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Fp(X;)=achromatic recePtor responses , W
la X a

F(x,)] FanXr) =P :x,/

X /a ,=1,00, h=1,00
150 21

process W

At e

100 1 —Fy

HDR range, see ISO 22028-5

L =28cd/n?
L

Fap(X;)=achromatic receptor responses , W
la X a

X

—hE -
F*(x,) Fap(*) =b oKl g2
150 2T

100 1

1.0,
170,
HDR range, see ISO 22028-5

500

L =28cd/n?
L

X, =log[L/L ]
0 50 100 150 F*rusiocu(X)=72logk) +50)
heb20-1a

Fp(X;)=achromatic receptor responses , W
la _ g X2

X

X

| F (%) = b=

F(x,) an() Xila gxifa 21,00, h=1,33
150 2 4 . ocess W
process W

F1133

—_— F1E

HDR range, see ISO 22028-5

100 17

50 0

04

-50., ]
L =28cd/n?
L

X =log[L/L ]
0 50 100 150 F*rusiosu(:)=72 logk,) + 504
heb20-2a

Fp(X;) =achromatic receptor responses , W, « +W
R la _ gxa

ek
Fr(x)| Fant) =0°5

(la, gxcla 2,=1,00, h=1,00
150 2

process W

Fi1
HDR range, see ISO 22028-5

100 17

5007 process +W +Fj 1

L =28cd/n?
L

:
t
X, =log[L/L ]
50 100 150 F*rustocu(X/)=72logk) +50)
heb20-3a

Fp(X,) =achromatic receptor responses , W, +W
la X /a

Xla _ o™X
F(x) Fan() = b:&T:'Wa ,1,00, h=1,00
29 process W
—_—F1

HDR range, see 1SO 22028-5

100 19

L ,=28cd/m?
L

: :
+ t t
2 3 X =log[L/L ]
0 50 100 150 F*rusiosu()=72 logk,) + 5
heb20-4a

Fp(X;) =achromatic receptor responses , W, +W
X fa_ X la

Fo(x)=b&——8—

F(x,) ab(*) eXay gxila ,=1,33, h=1,00
150 2T

process W

S

F1331

HDR range, see ISO 22028-5
> G e

100 14

50 01

0,4

-50_, ]
L ,~28cd/m?
L

t
X, =log[L/L ]
50 100 150 F*rusLoc,u(X,)=72 logk) +50)

)=achromatic receptor responses , W, +W
X la _ g x/a
ekl gxifa a,<0,75, h=1,00

process W

Fo75.1
HDR range, see ISO 22028-5

L =28cd/m?
L
'

t
X =log[L/L ]
0 50 100 150 F*rusLocu()=72 logk,) + 54

)=achromatic recePtor responses , W, +W

X /a _ gxla
kil gxla 2,=1,00, h=1,00
process W
F11
HDR range, see ISO 22028-5

L ,=28cd/m?
L
—

" %, =log[L/L,]

50 100 150 F*rusosu(*)=72logk;) + 50

heb20-7n

3 . X =log[L/L ]
0 50 100 150 F*rusiosu(*)=72logk;)+ 50

Fp(X;)=achromatic rveceptogv responses , W

F*(x,)
150 21

100 17

104 - 10
10%/@ 4+ 107% /@ a,=1,00, h=1,00, a}=a, In(10)=2,302
process W

Fap(X) =D

W,

—_—F
HDR range, see ISO 22028-5

L =28cd/n?
L

Fap(X;)=achromatic receptor responsess , W

10% la _ 107 a’
F(x)=bi—=10_
F(x,) ab(*) 10%/2 4 107/ a=1,00, h=0,75, aj=a, In(10)=2,302
150 2T

100 17

500

L =28cd/n?
L

heb21-1a

" =log[L/L]
0 50 100 150 F'rusiosul)=72l0gk)+5

F,p(X;)=achromatic receptor responses , W
X, /a' =X, /a’

10473 — 107"
X /a’ Xc/a' 321,00, b=1,33, aj=a, In(10)=2,302
Ty s = G B‘rocesgl\l\?’ e
process W

Fap(X) =D

F1 133
F17133

HDR range, see 1SO 22028-5

L =28cd/n?
L

X =log[L/L ]
0 50 100 150 F*rusiocu(/)=72logk) +5(
heb21-2a
Fp(X;)=achromatic receptor responses , W, = +W
10% la _ 107% la’
F(x,)] Fantxr) = b =
B 2" 1058 + 107%/@  a,=1,00, h=1,00, a}=a, In(10)=2,302
process W

100 119 Fi1
HDR range, see ISO 22028-5

5007 process +W +Fj 1

L =28cd/n?
L

heb21-3a

:
t
X, =log[L/L ]
50 100 150 F*rusLoc.u(X,)=72logk) +5

Fp(X,) =achromatic recepto; responses , W,  +W

lox,/a _ lofx,/
10%/@ 4 107% /@ a,=1,00, h=1,00, a;=a In(10)=2,302
process W

Fa(X)=b
- [Fiq

HDR range, see 1SO 22028-5

L ,=28cd/m?
L

: :
+ t t
2 3 X =log[L/L ]
0 50 100 150 F*rusiosu)=72 logk,) +59
heb21-4a

F,p(x,)=achromatic receptor responses , W, = +W
X fa _ g ax Al
(o (%) = p A —=10 "
';5(()2)-- abhr 10%/@ 4 107/  a=1,33,=1,00, aj=a, In(10)=3,062
process W
S F1331

HDR range, see ISO 22028-5
> G e

100 14

50 01

0,4

-50_, ]
L ,~28cd/m?
L

)

t
X, =log[L/L ]
50 100 150 F*rusLocu(X,)=72logk;) +5

=achromatic receptor responses , W, +W
10><,/a' _ 10—x,/a‘
Fap(Xp) = b == |
10%/@ 4 107% /@ a,20,75, h=1,00, aj=a, In(10)=1,726
process W
W
— Fo75.1
HDR range, see ISO 22028-5

L ,=28cd/m?
L
'

" %, =log[L/L,]
0 50 100 150 Frusiosu(*)=72logk,) + 50
heb21-6a
)=achromatic receptor responses , W, +W
10% la _ 107% la’
Fop(X) = b=
10%/@ 4+ 107/ a,=1,00, h=1,00, aj=a, In(10)=2,302
process W
F11
HDR range, see ISO 22028-5

L ,=28cd/m?
L
—

heb21-7a

" %, =log[L/L,]
50 100 150 Frueiou(%)=720gk)+5

TUB-test chart heb2; Model of response functiBggx), processebl, W, N+W

3 . X =log[L/L ]
0 50 100 150 F*tusiosu(*)=72logk) +5
heb21-8a

Tangens hyperbolicus tand) and modified with €@ and 1%/, a=-1,00 & 1,00; a’ = a In(10)
Y
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